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B.Com. (First Year) Examination, 2017
ACCOUNTANCY AND STATISTICS
Paper -1
(Financial Accounting)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(TrE-2)
Answer all questions (50 words each).
All questions carry equal marks.

Tft g7 i §1 TE T @ S| 50 v @
Afirr 7 BN T TR # o TEE

¥ PART-B [Marks : 50]

(Tre-9)
+ Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TEF THEE ¥ UH-USh U9 I TC, Fe ute w9 S
TOHF YT HT IW 250 V=R W A 7 8
Toft W F ofF TR F
PART-C [Marks : 30]
_ (Tve-u)
Answer any two questions (300 words each).
All questions carry equal marks.

HE B T FINT TEF T T IW 300 v T
e 7 81wt WA ofR Twm #)
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PART-A
(@us-37)

UNIT-I

FFRE-1)

1. ()  Ram purchased goods of ¥ 8,000 at 10% trade
discount from Shyam. Goods at ¥ 1,700 returned to
Shyam as it was defective. At which figure Ram
will record the transaction in Purchase Book ?
T\ 3 T 8,000 F A 10% =RE T W W
¥ Tl 99 @9 T % FR0 T ¥ T 1,700
e %1 A A9 e i e W W ow
THE W ool HOW ?

(i) Discount to customer I 300 but credited in his
account ¥ 150. What will be the rectification
entry ?

TF WS 1 T 300 F1 I e wn o0 €S @M
¥ T 150 & wfee fF3 W, @ | YR gfafe
B ? :
UNIT-1I
(FTE-1D)

(iii) Rate of depreciation WDV @ 20%, cost X 1,00,000,
Residual value at end of useful life is T 40,960. Flnd
out useful life of asset in years.
qea W W FAva fafu | 20%, @@ qA
T 100000 T Saqea & o W oqEfTe A
T 40960, TG 1 SHaA FIA I8 H JA R

(iv) —What is Del Credre and Over-riding commission ?
3@ B TE Ffuvrh wfvE ¥ # 2
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)

(v

(vii)

(viii)

UNIT-II1

(FTE-110)

What will be the insurable value under loss of profit
policy if turnover for 12 months prior to date of fire

was < 15,00,000, upward sales trend 10% and G.P.
Ratio is 33 Y % ?
i ST TH % g4 F 12 W &1 fawa T 15.00,000,
foa # aedt §@€ Waf 10% a0 TFA 9 W
33Y% % B, 7@ @9 # @iy e ¥ w9 g
BT ?
Find out interest in first instalment if cash price of
asset is ¥ 20,000, H.P. Price is ¥ 24,000 and down
payable is ¥ 4,000 and balance amount is payable
in 4 equal instalments.
oM e # = #1 i 9 Fife, o awfs .=
THE g T 20000, R w9 g T 24,000,
T SPEAA T 4,000 ® 99 9w TR =R 99W fet
ERCE 1

UNIT-1V

(FTE-IV)
State the basic difference between Royalty and Rent.
AUFHR o @ FR F g7 oK & =Ry
Narrate the accounts to be opened under stock and
debtors method in branch accounting.
g st H IR W e Gy 9 @ 9n
A G H AT
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UNIT-V

(FFE-V)

(ix) Find out value of goodwill under super profits
method if capital in firm is ¥ 2,00,000, normal rate
of return is 15% and actual average profits are
< 45,000.
stuens faf @ w=aft =1 9e9 3@ ®ive I wH
F OGS T 2,00000, A YA L 15% TA
Trafas e s T 45000 B

(x) A and B are partners for 2 : 3. They admit 'C' for
1, share in profits. They will share future profits

equally. Value of goddwill in books is at T 10,000 ,

whereas present value is ¥ 40,000. 'C’ does not

bring cash for goodwill. Give entry on admission *

of 'C. . :
FENT2:3 H o ¥ WEER ¥ W R :
Y 9m & T wd H wEw o ¥ wfys A adf

TERR T H1 SWER ae| TEh H T w1 e
T 10000  wafF S Ted T 40000 ¥ ‘=’

Trfa w1 U T § R o ®W @ WM W

Mo wfafe s
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PART-B
(gue-v9)
UNIT-I

(SFE-D
2.  The Trial Balance of M/s Roy & Co. at 31.3.2015 did not
agree. In order to close books, the difference was put to
Suspense A/c. Later on the following errors were detected
in 2015-16 :
() An item of purchase of ¥ 162 was recorded in
purchase day book as ¥ 62 and posted to the debit
of supplier A/c as ¥ 26.
() Sales day book was overcasted by ¥ 100 in
Jan. 2015. _
(iii) Furniture purchased for ¥ 2,500 in cash was posted
to the purchase account in ledger.
(iv) Credit Sale of ¥ 97 was posted to the credit of
Customers A/c as I 79.

w) T50 allowed as Cash discount to a trade debtor was
not debited to the Discount A/c. '

Show the necessary entries for rectification and show
Suspense A/c and P & L Adjustment A/c.

31.3.2015 I TF TS HHAT FT qo9S T e T gem

T 9% B B O SR HI U 9 mn § T €

9% # ¥ 2015-16 & F= FfeA &1 v oo

() FAHRT162 F TH UE HI TF ° T62 ¥ o
ﬂﬁﬁﬂ{ﬁiﬂéaﬁﬁizsﬁéﬁzﬁnﬁi

() E 2015 I fomg g @ Sig T 100 § SR
Sulkie
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(i) 2500 % FAR F THL FA F GAWE H F

TN A e # G )
(v) T97 # IUR foFa =1 TRF P W ® wfe o
379 ¥ A F O
(v) TH TEH H & T TS50 H TS T 9L TH FHI
e 7@ #1 W)
T afed & YuR g oTeves viafea dfae qur sufa
Gl U6 A9-21f7 99EeE @ SqEd |
OR (37o5)

3. Write short notes on the following :
= m dfam fewforai fafew
(@  Conventions of Accounting.
g | e s re
(b)  Accounting Equation.

o g

UNIT-II

(FE-10)
4.  Write short notes on the following :

= w wfye femfrl fafeg .

(@ Treatment of Normal and Abnormal Loss on
Consignment.
WU R GHHE W@ SEEE B F o

(b) Memorandum of Joint Venture Method.
oy wgE wrew fafu
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OR (39aN)

A machine was purchased on 1.4.2010 amounting to
T 1,92,000. The depreciation was charged @ 15% p.a. by
WDV method. On 1.4.2013 it was decided to change the
method and rate of depreciation to 10% p.a. on straight line
method with retrospective effect from 1.4.2010.
The difference in depreciation to be adjusted in Machinery
Alc on 1.4.2010. Prepare Machinery A/c for the year
2013-14. Working should form the part of your answer.

TF T} TF WA 1.4.2010 F 192000 ¥ FI FI
TE 15% WREs F | F HHE o THA 9 5 e 2
1.4.2013 ¥ ¥€ @@ fFan mn fF g w1 fafy @ w A
1.42010 ¥ 10% Whed # | I wrEh fFa fafu |
wfadt F= e 9 1.4.2013 B R @R A SRR
F I Al B TR F SRR H AT St qer o
2013-14 %1 TN @ aAEY) wr feorolt sToE IO

I B

UNIT-III

(g@E-1ID)

A Ltd. secured a "Loss of Profit" policy for ¥ 4,20,000.
The period of indemnity in policy is 3 months. The
following additional information were gathered :

‘' fa. 3 ‘e w5 afa’ & fow 24,20,000 w H e
ot s 3 we w afgfd oty seefaa #1 f=
Sfaft I THA F W
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Fire took place on 1.7.2014

Sales : — %

For the year ended 31.3.2014 14,00,000
For the period 1.7.2013 to 30.6.2014 16,00,000
For the period 1.7.2013 to 30.9.2014 3,60,000
For the period 1.7.2014 to 30.9.2014 24,000
Standing Charges 3,20,000
Profit for the year ended 31.3.2014 1,00,000

Saving in Standing Charges (owing to

additional expenses to avoid sales reduction) 10,000
Additional expenses incurred (to reduce loss

of turnover) 20,000

There is no special circumstances clause. Compute claim
under loss of profit policy.

ufelt 9 fafme oftfeefs amame o 81 o o afy
et § g@ @t U W T s
| OR (339am)
7.  Write notes on the following :
= w fewfer fafen .
(@ Receipts and Payment A/c vs. Income and
Expenditure A/c.

WE T R S SN -5 @

I(b) Calculation of cash price in H.P. transactions.
T 9 RN TR g ®OTOM
1802/10,580/555/17 8



UNIT-1V

(FEE-1V). o

8. B. Ltd. has three departments A, B and C. From the

particulars given below compute :

(a)  Value of Stock on 31.3.2015 and

(b)  The departmental trading results :

‘A J AR e e, 3, w1 E geed 9 srwle

SIS

(31) 31 @, 2015 1 ©fF FT I qAq

(%) fawrfa s ofom

A B C
Stock as on 31.3.2014 ¥24,000 T 36,000 ¥ 12,000
Purchases ¥1,46,000 ¥1,24,000 T 48,000
Actual sales T1,72,500 %1,59,400 T 74,600
G.P. on Normal
Selling prices 20% 25% 334 %

During the year certain items were sold at discount and
these discounts were reflected in sales values of sales shown
above. The items sold at discount were : _
T8 & A FB T A T T2 W H T 9 IR D
T et faE w1 AR T T A T B aw A
B AR WA T W W TR off
Department : A B C

4 T 4
Sales at Normal prices 10,000 3,000 1,000
Sales at Actual prices 7,500 2,400 600
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10.

OR (39a)
Explain in brief :
Taq o wEEEd e
(a) Recoupment of Shortworking and its treatment.
agEE T F oagEn w6 OsEeR e
(b)  Inter branch transactions.
= W@ TeAl

UNIT-V

(FFE-V)

A and B are partners sharing in the ratio of 3 : 2. On
31.3.2012 B/S of firm was as follows :

‘' Fem ‘A’ 3:2 B oA ¥ Hied gL WERR R
3132012 1 9 feear 9 WER en:

Liabilities 4 Assets 4
Creditors 20,000| Cash 20,000 |
P & L Alc 10,000| Debtors 60,000
Capitals . Less v

A 70,000 Provision 5,000| 55,000
B 50,000 {1,20,000| Stock , 30,000
Furniture 25,000

Goodwill 20,000

1,50,000] 1,50,000

They agree to admit 'C' on 1.4.2012 for % share in profits
on folloWing terms :

@  'C' will bring in cash ¥ 60,000 for capital.

(i)  Provision for doubtful debts be reduced to ¥ 3,000.

1802/10,580/555/17 10



11.

(iii)) 'C' will bring in cash for share of goodwill. The
goodwill of firm will be valued at three times of
Average Profits of last three years. Profits for last
three years were ¥ 40,000, ¥ 10,000 (Loss), and

T 60,000 respectively.

(iv) Old partners will withdraw half the amount of
goodwill.

(v)  Stock is to be revalued at ¥ 22,000 and furniture at
< 21,000.

Give necessary entries, prepare Capital A/c and B/S after
admission.
40R w W R AN HE Y T # fau o W
v 37 &1 fofg feer
() ‘W AT gSh ® U T 60,000 THE SR
(i) ERTY HO eESE F® T 3000 TF A SHI
i) ‘| A fed w1 wfa w fau T @M wH w5
A 1 qediwa T A a6 @ oima a9 %
F MUR W foman srar ®1 A A a6l % s e
% 40000, T 10,000 (B1F), T T 60,000 <N
(iv) Tnfa &1 smt TR WA wEgeR wH | fee @)
(v) TWF o THeAET T 22000 R AT FHAGK FH
A T 21,000 W fF @) ,
e wafea e, St O @ WOw ® 9] # fEet
TR Fife
OR (31ET)
Explain rule of Garner vs. Murray. How it applies in case
of Fixed and Fluctuating Capital accounts ?

TR & m W & 7w = ggmey fer @ afEaste
TSt @t # T A 9% R yER @n) e § 2
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PART-C
(@ve-w)

UNIT-I
(FFTE-1)
12. Write notes on any two of the followings :
= A ¥ R & w oot fafew -
(@  Concepts of Accounting.
TGHT H SFIUROMT)
(b)  Accounting standards setting process in. India.
A W O WAE AR HE S S

(c)  Trial Balance Agreement is proof of Accuracy of
books, if not, explain.
To9e 1 e oRET TR Ht OYEA BT FE
%, IRk &, @ wwEmy

UNIT-II

(3eFTE-10)

13. Baba Glass Works, Delhi consigned 100 cases of crockery
to their agent at Jaipur invoiced proforma at ¥ 20,000, this
being selling price obtained by adding 25% to the cost.
They paid freight of T 500 and Insurance ¥ 1,000. In transit
20 cases were lost and on a claim being made, a sum of
< 3,200 was received by consignor. The agent took delivery
of remaining goods and paid T 800 as custom duty and
T 80 as octroi and T 40 for cartage.
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14.

The Agent rendered to their principal an account sales
showing that 60 cases were sold for ¥ 14,000 and they had
paid brokerage at 1%2%. The agent after deducting expenses
incurred by them and their commission at 5% on gross
sales remitted due amount by draft.

Give necessary ledger accounts in books of Principal and
Agent,

T T A, Rt ¥ 100 T FEG W SAR ®
T T T 20,000 B Y9 R uSil 39 foent gea § @
H1 25% TS 3N 1 S=IA T 500 9IET T4 T 1,000 S
=T H TEE TR 20 T W W) @ FH W YTF H
¥ 3,200 7%= et I e o w1 e ofR 3T T 800
HET TG, T 80 T T T 40 WS T THA
w= 3 fowmg faam gum #w oden e 60 ofe
T 14,000 ¥ =t T TR &R 14% TEEH & W T A
FA S W 5% FHEA qo0 AW =T WEF W9 A
IR T A

TF TE TOE 1 TSI W EvEE @ TR Fi)

UNIT-III

(FTE-111)
Details about a Club for the year ended 31.3.2015 are as
follows :

31 W, 2015 1 GEMG A4 % TH w9 ® e fe
W%
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Receipts and Payments A/c

Receipts ¥ | Payments 4
To Balance b/d 5,500 Bvaalafy 5,000
To subscription : By Rent 2,000
2013-14 3,000 By Sports
2014-15 15,000 Material 10,000
2015-16  2,000| 20,000 | By General
To Interest on Expenses 2,000
Fixed Deposit 1,500 | By P:ixed
To Life Member- Deposits 8,000
ship Fees 5,000 | By Balance c/d| 5,000
32,000 32,000
Income and Expenditure A/c
Expenditure 4 Incomes 4
To Salary 5,000 | By Subscription | 19,000
To Rent 3,000 | By Interest on |
To Sports Material | 7,000 Fixed Deposits] 2,000
To General Exp. 2,000
To Depreciation
on Furniture 1,000
To Surplus 3,000
21,000 21,000
1802/10,580/555/17 14




15.

16.

On 1.4.2014 the assets and liabilities of Club were as under :
Prepaid rent ¥ 500, Furniture T 10,000 and Fixed deposits
T 4,000. Prepare Balance Sheets of Club as on 1.4.2014
and 31.3.2015.

1.4.2014 & A9 % MA@ T8 g o TR of .
gaga fetmn ¥ 500, wATER X 10,000 T Tt S
T 4000 | 9 F 1.4.2014 T 31.3.2015 % feorfa faawm

TR Fifsw)
UNIT-IV

(FHE-1V)
Write notes on the following :
e w fewhmi fafay -
(@ Scheme of entries in the books of Lessee and
Landlord in case of Sub-lease.

39-ve # feufd ¥ wediR e wEdRm w1 g
¥ e wfafen

(b) Stock and debtors method of Branch Accounting.
T SEEA ® WE W amRR fafn

UNIT-V

EFFE-V)

A, B, C and D share profits and losses equally. On

31st March, 2012 the firm was dissolved. The Balance
Sheet was as under on this date :

T, o, ' iR ¥ W @m-a wed §1 31 9, 2012
F FH-H- T 8o 3 fafa s faee feoyen
o
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Liabilities 4 Assets 4
Creditors 8,000 | Accounts
Bank Overdraft 2,000 Receivable 25,000
Capital Alc : Stock 15,000
C 30,000 | Capital A/c
D 15,000 A 10,000
B 5,000
55,000 55,000

Accounts receivable realised 20% less than the book value.
Stock could be sold for X 2,000 only. There was a contingent
liability of < 1,000 for bills discounted for which ¥ 800 had
to be paid. A is insolvent and he contributed only ¥ 3,000.
Realisation expenses amounted ¥ 2,400. There is a provision
in the partnership deed that 'Garner vs. Murray' rule shall
be applicable.

Prepare necessary accounts on dissolution of firm. (,
T @ W TF Ied ¥ 20% FH 99d gl BiF wad
T 2,000 ® & =1 S wEN TR ™ fFT W T 1,000 =
Hiery Ffae o e g T 800 g™ w1 ‘T fanfern
? T I daa T 3000 A wgE =F T 2400 T
TR Y@ # TEyE § R TR s w s e ang
B

FH % foeed W oTevE W TR i)
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